Touch Issue

Some cursor jump to another random location, far from touch area

2025-09-04



Example 1:

One hard-touch screen, outputs (x/y) =>jump x/y is hit in the middle (sample data)
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Example 2:

One hard-touch screen, outputs (x/y) =>jump x/y is hit in button (last sample date)
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Example 3:

One hard-touch screen, outputs (x/y) =>jump x/y is hit at Middle (sample data)

tsc2007 1-004b: data: 0=xc083, wval: 0x83c

tsc2007 1-004b: data: Oxcle3, wval: Oxe3c

tsc2007 1-004b: data: 0x3052, wal: 0x523

tscZ2007 1-004b: data: 0x20ec, wval: Oxec2

tsc2007 1-004b: data: 0xel2c, wval: 0x2ce

tsc2007 1-004b: DOWN point (3644,2108), resistance
tsc2007 1-004b: data: 0x607c, wval: 0x7cE

tscZ2007 1-004b: data: 0=x40d4d1, wal: 0O0xdl4

tsc2007 1-004b: data: 0xb031, wal: 0x31b

tsc2007 1-004b: data: 0x30f£f4, wal: 0xf4d3

tsc2007 1-004b: data: O0xel2c, wval: 0x2ce

tsc2007 1-004b: DOWN point (3348,1990), resistance
tsc2007 1-004b: data: 0x83, wal: 0=830

tsc2007 1-004b: data: 0x30b5, wal: 0xb53

tsc2007 1-004b: data: 0x303b, wal: 0x3b3

tsc2007 1-004b: data: 0x80f£2, wal: 0xf28

tsc2007 1-004b: datz: Owello. ool Oxlos

tsc2007 1-004b: DOWN point (2899,209&), | resistance
tsc2007 1-004b: data: 0x3083, wal: 0x833

tscZ2007 1-004b: data: 0x20=e3, [val: 0O0xe32

tsc2007 1-004b: data: 0x1042, wval: 0Ox421

tsc2007 1-004b: data: 0xd0f£f0, wval: O0=xfoOd

tsc2007 1-004b: data: O0xel2c, wal: 0x2ce

tsc2007 1-004b: DOWN point (3634,2099), resistance
tsc2007 1-004b: TP




Example 4:

One hard-touch screen, outputs (x/y) =>jump x/y is hit at two last (sample data)

tsc2007 1-004b: data: 0x7075, wval: 0=x757

tscZ007 1-004b: data: 0O0xele3, val: Oxe3e

tsc2007 1-004k: data: 0x5045, wval: 0=x455

tsc2007 1-004b: data: 0x%0ee, val: Oxeed

tsc2007 1-004b: data: 0xdi2c, wval: O0xZ2cd

tsc2007 1-004b: DOWN point (3646,1879), resistance ( 489)
tsc2007 1-004k: data: 0xe076, val: 0x766

tsc2007 1-004b: data: 0x808b, wval: 0O0=x8h8

tsc2007 1-004b: data: 0xb036, wval: 0x3cb

tscZ2007 1-004b: data: 0x40£f3, wval: 0=xf34

tsc2007 1-004b: datas= Owd0?ec  sral = Ow2cod

tsc2007 1-004b: DOWN point (2232,1894), resistance ( 42)
tsc2007 1-004b: data: 0x4075, wval: 0x754

tscZ2007 1-004b: data: 0xze093, wval: 0x93¢6

tsc2007 1-004k: data: 0x202d, wval: 0=x2d2

tsc2007 1-004b: data: O0xalfd, wval: O0xfda

tsc2007 1-004b: data: 0xd02c, wval: O0xZ2cd

tsc2007 1-004b: DOWN point (2358,1876), resistance ( 227)
tsc2007 1-004k: datar UxZ075, val: Ux752

tsc2007 1-004b: data: 0xc083, wal: 0x83c

tsc2007 1-004b: data: 0xd000, wval: 0O0xd

tscZ2007 1-004k: data: 0xf0ff, wval: O0xfff

tsc2007 1-004k: data: 0xd02c, wval: O0x2ecd

tsc2007 1-004b: ignored pressure 25556

tsc2007 1-004kb: UP




